mean # PXL hits vs eta

<pixel hits>

Ratio

ar
3F
2

0.95

=
E ¥

| mean # PXL Layers with measurement vs eta

<pixel layers>

Ratio

4_

3.5

3

2.5

2_

1.5

1_

0.5

.....................................................................

LM

<strip hits>

Ratio

eom

—=— DQM_original_stepZ_itbar-phasel-newgeom
—e— DQM_mkFit_step2_ttbar-phasel-newgeom
—— DQM_angle_step?2_ttbar-phasel-newgeom

10—

—+— DQM_fast_step?2_ttbar-phasel-newg

L T T

—
+

<strip layers>

Ratio

SN
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

=
TT T T [ T T 11




	Contents
	Page 1


